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Accounting Concepts. Standards
| Assertion (A) : Accounts prepared by adhermg
to accounting standards are more reliable,
Reason (R) : Accounting standards ensure
application of uniform accounting policies
while preparing and presentation of financial
stalements,
Codes:
b Both \ and R ire mdividuall irsc sod R id
bl cormest sxplinatioi of

b Both A and R are individually true but R i
not the correct explanation of A
¢ Ais true but R w false
d A i false but R s true
X In accordance with generally accepted
acepunting principles, which of the following
methods of amortization 15 nommally
recommended for intangble assets 7
a. Sum of years' digiis
b Stranghi g
¢ Units of production
d. Double-dechining balance
3 Match Last-I with List-H and select the
answer by using the codes given belo
List-1 (Type of Asset)
A, Lease
B. Frechold Building
C. Livestock
D, CQuarries
List-TT (A eth
Depletion

Reval

ul ation)
L 2

t method

-1, B2, C-4. D-5
A5, B-2, C-4, D-1
d A-1,B-3. C-Z, D5

Accounts of Non-Profit

Oroamsations, Sinele Entry System.

Partnership Firm
4, The following particulars are available from the
accounts of M. X:
Dhrect expenses s 8000

: CIVIL SERVICES (PRE) EXAMINATION, 2007 I

Opening stock Rs 12,000
Purchases s 100,000
Interest paid Rs 3,000
Closing stock Rs 12,000
What is the cost of goods sold 7

A Rs 10000

b. Es 1.05.000

wT gq

d. Rs 1.35.000

Which one of the follo 5

statement ”

{in the death of a p of jont life

insurance poligmall bycredited to the capital |

wing pariners squally

partners including the deceased partner in
then-capital rtio

Under Gamer vis Murray's rule. the deficiency

of insolvent partner must be bome by the other

salvent partners in proportion Lo @

a.  profit sharing ratio

b__capital fatio befare the dissolution

¢ capital ratio after the dissolution

d.  cash receved from partnership afier
chssolulion

Al the time of dissolution of a partnership L.

an unrecorded liabihity 1s taken over by a partner.

What is the joumal entry for recordmg the same

m the books of the firm 7
= |

b. Realisation A/C debited: Lability AN
credited

¢. Liability A/C debited; Realisation A/C
credited

d. Liability A/C debited. Partner’s Capital AC
credited

Maximum Loss Method is associated with which

one of the following ?

b Piccemcal distribution f cash 1o partner

b.  Apportionment of loss of partnersiup firm to
pariners
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<. Preparation of profit and loss account of during the year : Rs 7,000 |
partnership finm Subscriptions outstanding at the beginning of the |
do - Distribution of vealisation loss 1o parinery vear - Rs 1,400 |
9. Consider the following data - Subscriptions outstanding at the closing of the
The adjusted maintamable profit : Rs 40,000 vear : Rs 1600
Capital employed : Rs 2.00.000 What is the subseription to be credited to Income |
MNormal rate of return - 15% and Expendhture Account of the vear 7
Capitalization vale | 20% a. Rs 7.000 ‘
What is the value of goodwill on the basis of b Rs 10,000

capitalization of super-profits? L Rs 7200

bR su.o) d Rs 9,000
b, Rs 40.000 14, Which onc of the following is
e Rs 200,000 coneet?

d. Rs 60000 In comtext of Gnal Lol ht
A and B are partners sharing profits m the ratio organisations, legacy 15

of 4 : 3. C joins as a partner, the new profit
sharing ratio among A, B and C being 7 4 : 3,
Wha is the sacrificing ralio between AandB3?
a Ii1

b. 4:3
R - -

Credit purchases of Rs 105 from M. Y credited \ccounts)

to him as Rs 501, whereas credit sales of s 236 tion (A) : While preparing Trading and
to Mr. X debited to him as Rs 632 Profit and Loss Account and Balance Sheet,
What t the rectification oty for the above adjustments given outside the Trial Balance are

treated bwico.
Reason (R) | Adjustments are (o be made twice

|
¢ 2:1 v eial Statements (Final
error’?
|
|

h. XAk Dr. 501

Codes:

b. Both Aand R are individually truebut R8s |

#. Purchase Aic Dr, 236
ToY .?.* because of the appheation of matching principle.

not the comeet explanation of A
396 e A true but R is false |
d. A s false but R s trug
R 80,000 16. Assertion (A) @ Fictitious assels arc actually |
Rs. 4.70.000 revenue expenditure which are temporarily
Bs. 50,0006 capilalised. |
Rs. 10,000 Reason (R) : These assets, therefore. form a part
unt received Rs. 5,000 of capital employed or the net warth of the
chase retums Rs. 10,000 business.
osing balance of creditors Rs. 95,000 Codes:
(Un the basis of the above data. what 15 the credit a.  Both A and Rare mdividually true and K i=
purchase 7 the comeel explanation of A
o Bs 5,00,000 b, Both A and B are indradually true but B s
DR aot the correet explanation of A
e Rs6.00.000 kA s e but K is falsd
i Rs 460,000 d. Ais false but R is true

Subscriptions received




LA.S. Commerce 2007

17, What s the statement that shows the wealth 23;

which the busmess has created and how it has
been distributed among those who have created,
known as !
a  Income statement
b Financial pinition statcment
2. Fund Now statement
d.  Value added sistement

18, Which one of the following items does not
appear under the head ‘'miscellancous

expenditure’ 7

a. Preliminary expenses 24.

b,  Dhscount on issue of shares and debentures
¢, Underwriting commidgsion on shares

b Day io day muscollaneous admmisicain 2
s
19,  Consider the following data ;
Orpening capital Ras 5,000
Closing capital Rs 6,000 25,
Drawings Es 1.000
New capital introduced Rs 500
Whal is the profit of the vear ?
a.  Rs 2,000

e Rs 1.000
i, Re3500

entries deal with which of the foll
1. Expenses meurred

2. Income mcﬂived. 26

3. DExpenscs outstandin
4 Income received m
Select the corréet apswer P the codes

given below:
o L3 ¢

21. gt dd 31 arrears of cumulative

Fore .. dividenids be shown in balance sheet?

¢ As an outstanding hability

d. As acuorrent liability

22, What is the hability on bills of exchange re-
discounted 7

b Contmuent lubilit]

b, Curent hability

<. Non-current liability

d.  Limed lability

20.  While preparing final accounts, ndjuu;%@
i W

2.

FAn Ll 13.

3of14

Which one of the following is the comect
statement 7

The closing stock may appear in the trial balance
only when it is

a.  added to total sale

b. deducted from total sale

¢ adjusted aganst opening mventory

Which one of the following
The balance of "Capiial §
be used lor

a.  issuing partly paid o

ollowing statements is correct
rights under Right Tssue ?

wered with the issue price

face value of existing shares is to be
considered with the issuc price

e, The market value of existing shares w to be
considered with the face value

Intrinsie value of shares i3 caleulated on the
basmi of which one of the tollowing ?
a.  Tolal assels

¢ Fixed assets

d.  Gross current assets

Capant reduction aceount 15 prepared in the case

of:

a. Extemnal reconstruction of a company

b_nicrnal teconstruction of 2 company |

e Absarption of 2 company

d. Amalgamation of two companics

Consider the following statements relating to

the computation of nel asset value of shares |

. Net asset value can be computed either by
the net asset method or by the net equity
method.

2. Intangible assdts are taken into aceounl in
computing the net asset value.

Which of the statements ziven above is are

comecet 7
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33.

a1 only
b, 2onlv

d Neither 1 nor 2

Ratio Analyvsis

Assertion (A) : Trading on equity 18

recommended in a sitwation when rate of retum 34,

is higher than the cost of capital.

Reason (R): Trading on squity magnifics the

EPS.

Codes:

b Both A and R are ndividisally o and 1L
he cirredt cxplatiation of A

b. Both A and R are mdividually true but R is
not the corect explanation of A

¢ A true but R s false

d As false but R is true

For what type of a company. high geared capital

structure w suggested 7

Company

a.  which 15 newly set up and making moderate
profit

b, which is matured one but making loss

profits
d.  which is hi the state of recovery a
making losses for several v
A company with 4 paid up ¢
shares of Rs 10 each has

af

four times with o miargin sdles. What is
the retumn on investment ( the compimy
a. 28% *
o 35%
d 42%
. a company’s liabilities were 3,
Rs LN, 0M)
Rs 10,001
Rs 14,000
Rs 110,000
Ras 30,000
Provision for taxation  Ks 34,000
Proposed dividend Rs 10,000

What is the proprietary ratio of the company ¢
& LR

b 0.8

¢ L3zl

d 1:103

Consider the following data

40f 14

Total assets tumover ; 4 limes
Mel profit margn © 10%

Total assets | Rs SO0

What is the net profit ?

i Rs 5000

b, Rs 10,004

d. Rs25.000

Equity shares of Bs 10/= il

Additional Informati ‘
Profit after tax Rs 270,000 |

Equity divi . 20%
Narket pn ’

Faad Flow Statements, Cash Flow

Assertion (A) : Decrease in current linbilities,

without decrease in current assets. will merease

working capital.

Reason (R) : Equal increase in current labilities

and current assets will increase working capital,

Codes:

a. Both A and R are mdividoally true and I
the correct explanation of A

b. Both A and R are individually true but R is
not the correet explanation of A

ke s tiuc bul K5 Talse

d. Ads false but R is true

The following information is available from the

financial statements of o company :

Net profit Rs 20,000
Opening stock Rs 20,000
Closing stock Rs 24.000
Opening deblors Rs 30,000
Closing debiors Hs 40,000
What is the cash From operations of the
comipimy”?

i Rs 10000

b.  Rs 15000

¢ Rs 12000

d. Rs6,000
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an Which tine of the following 15 not disclosed m
the statement of cash (lows, either on the face of
the statement or in a separate schedule ?

o The major classes of gross cash receipts
b, The amount of ncome tax pad
¢. A reconciliation of net income to net cash

flow from operations 43,

38, Who conducts the efficiency and propriety
audi?

b, Central Government Auditors
¢.  Comptroller and Auditor General of India
d. Local Fund Auditors

39 Assertion (A) : The duty of dic auditor is lo
prepare the audit report and sign i,
Reason (R) : It is not the duty of the auditor 1o
see that his report has been sent W shareholders.
Codes:
4. Both A and R are individually trug and R is
the comreet explanation of A

bt the curect explanation of A
A 16 true but R s false
. Ads false bul R is true
d0.  Consider the followng statements
1. Liability of professional a s
unmated.
2. Professional accoun orgn only

=

giv v is/are

41 of the fllowing s an example of

of principle 7

redil purchases of Rs 30,000 from Mr, X

entered in Sales Day Book

b, Credii sales to Mr. Y Rs 50,000 15 not
recorded in Sales Dayv Book

¢ Stationery Rs 5,000 debited to Salary
Accounts

42 In whaich of the following companies, the auditor
% ol reguired 10 Took into the sale of shares,

47.

5of14
|
debentures or other secunities which have been
sold at a price less than their cost? |
a.  Banking company
b.  Manufacturing company
¢ Service onented company

What 18 the primary oljeetive of Tax Audit u's

44 AB of the Income Tax Act. 1961 7

a  To assist the management in
liability accurately

o o assist the mana
effective tax pl
d. Toassistthetaxa g to collect more ‘

fnx ]
In which of !
submi
addilifh to

mgmm. does the auditor
o udit Report (LFAR) in |
am audit report ?

ing company audit

ative society audit

d. Educational mstitubion audit

& Manufacturing and Other Companies
{Auditor Report) Order. 1988 {MAOCARD)
does not melude a company engaged 1n which
one of the tollowing activities 7
a. Supplying and rendering services
b. Trading
¢ The busmess of financing, invesiment, chit

fund, nidhi or mutual benefit socicty

What is an audit of executive action and plans
bearing om the linance and the expenditure of the
company. known as?
a. Propriety audit
b, Efficiency audit

d.  Operational audit

Mateh List-1 with List-I1 and select the comreat

answer by using the codes given helow the lists
List-1 { Transaction)

A, Sales

B. Purchases

. Payment

List-11 { Tvpes of Misappropriation of

Cash)

Concealing cash recemved

Teeming and lading

Suppressing credit noles

L

(i
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4. Money shown as wages by entenng dummy
names
Codes:
WRUNTENE
b, A-1, B4, (-2
& A-LB-3 C-2
d A2B4,C1
48, Which type .of audit is compulsory for a banking
organisation ?
a.  Penodical audit
b oo aud]
¢ Nanagement audit
d. Interm audit
44, Who directs a special audit of gecounts of a
company *
2. Sharcholders of the company
b. Company Law Board
¢. SEBI
H Central {iovermmeal
50, Match List-1 with List-11 and select the correct
answer by using the codes given below the lists -
List-T (Types of Errors)
A Errors of commission
HB. Compensaling erors
. Emors of prnciple
List-1T (Example)

e

Codes:

a. A-3, B-1.C-1
b. A2, B3 C-1

<

ngﬂ select the correct
given below the lists :
of Checking)

d A2, B-l, -3
51. Match List-l '

List-IT (Example)

. Checking of cost and posting
2 Checking of catries

3. Checking partial entrics

4. Enguiry inio the value

C‘ s

o A4 B3 -2 D1

¢ A B-l.C-1 D-3

L Incorrect allocation of expenditure
Counter balanced error
. Incomrect recording

e

|
6of 14

d. A-2 B-3.0-4 D=1
52, What is the most important objective of mtermal
audit ?

b, Facilitating fimal avdit
¢ Early finalisation of annval accounts
. Ensuring systemahic accountimg

33.  Inthe context of audit, where are "what
was done and by whom and what
and information were given and by
shown 7

b, Audit manual
¢ Aundit programime
d. Audit report

v completion of accounts

. Determine the sample size
2. Take sample and determine the results

3. Determme sampling plan

4. Evaluate sample results

The correct sequence of the steps given above

a 2-3-4-1

b 5-1-2J)

¢ 4-3-2-]

. 1-2-34

Caputal Market (Stock Exchanpe)
56.  Conswder the following statements regarding

Nlutual Funds:

1. Niuiual fends can pariicipate in optons
tradling and carrying forward transactions in
sgcurities,

2. Mutual funds can mvest in transferable
securities in the money and capital markets,

Which of the statements given above is-are

comeet 7

a1 only

¢. Boih | and 2

d.  Neither 1 nor 2

57, SEBI issued guidelines for disclosure and
mvestors protection based on the guidelines
given by the commitiee under whose
chairmanship ?
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58,

58,

il

Hl

2. Rangarajan
b, Raja Chellish

d Kelkar

The Committee constituted by SEBI under die

chasrmuamship of Justice D, Dhanuka had which

of die followm g ierms of reference 7

1. Review of inter-alia, . die SEBL A, SCR
Act, Depositories Act and the provisions of
the Companies Act pertainmg 1o the capital
market

2. Toreview the penal provisions contained in
the Sections 15(A) 1o 15(3) of the Securities
Laws { Amendment) Act

Select die correct answer by usmg die code

given below:

a. | only

b. 2 imly

i,  Neither 1 nor 2
[n capital market, ‘Beta' is used to measure *

b. profitability. of securitics
¢ marketability of securities
d. volatility in prices of securitics

Match List-T with List-T1 and seleet the co
answer by using the codes given below,
List-1 (Regulator of Capital Marie
Capital Market Board
Securities Commission

Securilies and T7
Federal Commission
Mlarket

Sn®Ep

L A2, Bl =4, D5
e A3 BL G DS
d. A2 B-5 C-4. -1
Mateh List-l with List-1I and select the correct
answer by using the codes given below the lists ©
List-1 (Mutual Fund Scheme)
Ao Open-Ended Mutual Fund Scheme
B, Close-Ended Mutual Fund Scheme

2. Consider the

i* Cwowth Fund Scheme

D. Oiff-shore Mutual Fund
List-1T i Characieristic)

1. 1t offers capital appreciation of the
underlying investment

2. Tris a fund accepted and ligmdated on a
contmuous basis by a Mutual Fund Manager

3. Ttis alse known as regional or coun

4, No exit possible till the closure

O

e slalements

Codes:
8. A2, B-1.C-4,D-3
b. A-3, B4, C-1,10-2

d A3 B-1.C4.1-2

. UTlis by an Act of Parliament
in : s nol come under the
5 ations for mutual funds.
- d. organisations can invest their
ilised funds abroad.

[ the stalemients given above ware
o ]
| only
b. Zonly
¢ Both 1 and 2
. Heither | o 2
Ans. (d)
63, Consider the following statements
1. SEBI acts as a judicial body and has the
same powers of the Civil Courts under the
Code of Cnal Procedure, 19408, while trving
a sl in certain matters,
2. SEBI shall have powers of both the Cvil
Courts and Crimmal Courts under CPC and
CRPC.
Which of the statements given abuyve is are
cormeet ?

b. 2only
¢. Both1and2 |
d.  MNeither | nor 2 ‘

Business Oroamisation and

Combination Insurance (Life, Fire B

Marine, General) |
. Mateh List-T with List-1T and seleet the correct
answer by using the codes given below the lists : ‘
List-1
A Marne msurance
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3.

By,

Vovage policy

=

Tettisom

List-11

. Throwing olf certamn cargo

2. Value s decided at die time of forming
policy

3, Llovd's Association

4, lLand and sea risks

3. Cargo

Codes:

4 A3, B-4.C-2D-1

b, A-l,B-5,C-4,13-3

d A-l, B-4,C-2 D3 T

Consequential Loss Policy w an example off
mgurance of;
a.  [Exisling assets

o Re-nsuwance

i Double msurance

Gross profit percentages on turnover fir the Last
three yvears were: 20%, 25% and 24%. In tho
current vear. there was a fire in May which
destroyed all stock. Openimng stock was Rs
30,000 at cost, Purchases and salés upto the

of fire amounted to Rs 80,000 and R
respectively.

What s the value of closmg stock

msurance wmpamr ?

b Ks 43,000 T3

¢, Rs23.000
d  Rs 134001

Foreign TEanS\(Export-lmport)

2. Expont Credit Guaraniee Cuqmmﬁun

b. Chambers of Commerce 4.

¢ Reserve Bank ol India

Who issues the Let Export Onder
a.  Shippmng agent

¢.  Caplain of the ship

Block policy 0.

|
Bof14

d.  Clearing and forwarding ageni

Consuler the followmg statements

1. Merchant bankers nesd not maintain balance
sheet. a copy of the auditor's report and a
statement of financial position of the issuing
ciyTpany.

2 There s no stipulaton for a lead manager W
accepl underwritmg obligations,

Which of the statements given aboy

comeet 7

a | only

c Both land 2

d.  Nelther 1 nor 2

Hed Ink Interest s one of the
following 7 *

b .

I unt

- l

the following statements

ate remittance reduces pressare in the
lance of payments.

& Invisible receipts and paymenis are recorded

mn current aceount of balance of payments.
Which of die statements given above is'are
comeet 7
a lonly
b. 2only
o Boih | aud
d. Neither 1 nor 2
Which ome of the followmg statements s
conect?
Exchange control measures are taken by the
Reserve Bank of India to: |
b. control the flow of foreign currency into |
I
e reduce the avanlabibity of foreign curreney |
with exporters |
d. check foreign currency speculation
Management ‘
MeClelland's Needs Theory of Motivation talks
aboul different needs that are relevant o
|
|

marnagement. Which of the following are those 7
a  Power. actualization, people

¢ Affilstion, prestige. actuahzation
d. People prestige, achievement
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75, Which of the following qualities are the four
cssential requirements of active listening 7
4. Expression, empathy, acceplance, curiosity

b cplanc

¢ Intensity. empathy, acceptance. willingness
to take responsibility for completion

d.  Acceptance, empathy. expression. intensity

7h. Which one of the fellowing statements is

correct?

A job specification best deseribes

a.  job contents, environment and comditions of’
emplovment

¢ the responsibilities and obligations, as well
as Lhe privileges of a job
d. the job within the orgamsational structure
77 Which one of the following is not related 1o
splintered authonty ?
4 Decision made by pooling of two or more

managers
Dlecision is cross-functional in nature

hl

d.  Delegated authority can be recov
78, Which one of the following forms
organization would best deseribe 5 b
departmentation by function a

departmentation by p
i Wirlual orgamsation
b. Stralegic busingss uni

hich one of the followmg is the correct

In the context of coordination. a manager 15 said

to be playimg a boundary spanning role when

o, he controls or takes responsibility across
departmental boundanis

b.  he assumes an additional charge of a unit
over and above his core charge

a4,

9of14

e he acls as a laison between
departments o organisations that are in
frequent contact

Which of the [ollowing stalements

characterse coordination as a function 7

1. Itis the orderly arrangement of
to ensure unity of action for
cormmon objective,

2. Tt nocessarily has time, g @
direction dimenss

3 I is regarded by 5 s 48 all inclusive
function of not just one of

its funeti *
Select the ¢ dvor by waing the codes
wiven !

w1 2 0@y
3

ality or

Y
3 omly
A ‘ofsuler the following statements :

Theory X observes that people can exercise

self-direction and accept responsibility.

2 According 1o Douglas MeGregor,
assumptions of the theory Y best captured
the true nature of workers and should guide
management practice,

Which of the statements given above s are

comect 7

a. | only

¢ Both 1 and 2

d.  Neilber 1 nor 2

Which one of the tollowing 15 the power that
arises fromidentification with a person who has
desirable resources or personal traits in the
comtexts of leadersiup ?

8. Reward power

b, Legitimale power

¢.  Expert power

Which one of the following 1s not a tvpe of
leader identificd by the path goal theory of
leadership 7

a.  Directive leader

b. Participative leader

d Supportive leader
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5. Match Last-1 wath List-H and select the correct
answer by using the endes given below the lists ©

List-1 (Propounder)

Rensis Likett

Blake and Mouton

Tannchaum and Schmidt

Fred Fredler

List-11 (Theory)

oDnEp

Four systems of management
Contmgency theory
NManagerial Grid

Codes:

i, A3, B-1. C-4. D-2

& A3 B4C-1,D-2

e

d A2 B-1,C-4, D-3 o0,

B Match List-T with List=IT and selecl the cormect
answer by using the codes given below the list;

List-T

Typing test

Verbal comprehension

Self confidence test

Clereal test

onEs

List-T1
Personality test
Aptitude test
Achievement test
Intelligence test
Codes:

R

b, A-1,B-2 C-3.D-4
¢, A3 B2 C-LD-4

e

ng slatements about

BT, Which one of

Nenl TR positive exercise while
s 0 negative exercise

of milerview as a tool of selection

ed by the possibility of mterviewer

d. Relerences have a limsted ole mn the 93,

selection process for employment
88.  Which one of the following statements best
explains the scalar poneiple 7
2. Supenors cannot escape responsibilitics
for organising activities of their subordinates

Leadership as a contmuum 89,

10 of 14

b teaponaitnlity of disinion-niahng by the
ST |
¢.  Managers must make decisions that are
within their suthority
d.  Responsibility of actions cannot be more or
less than the delegated authority W perform
the same
Michael Porter had identified five fog
analysis of an mdustry. Which one 83
followng 1s not a part of the 3
4. Competition among com B

Which one gjg statements 15
¥ |
A mgmm’llﬂﬁﬂnhﬂ&dﬂﬂ
oy will be suitable for all |
" 15 a basic premise of the

puman behaviour approach

d. role approach
Which one of the [ollowmg satements 15
comect?

Bounded rationality approach to decision-
making results in

A maxwmising decision |

¢ contmgent decision ‘
d. satisfactory decision
In the context of merarchical nature of plannmg.
which one of the following is the comrect
hicrarchy 7
o Objectives—strategics—budgel —
programme
b. Stratesies—objectlives—policies—
procedires

¢ Objectives—strategics—policies—bud gets

Which one of the followmng statements 1s

corect?

In a PERT chart, the eritical path s

a  the sequence of the most important events
and actrvities n the project




LA.S. Commurce 2007

e the least e consummg sequence of evenls
and activities
i the end points representing the completion
of major activilies
94, Which of the following is. are finding(s) of the
Hawthome Experiment?
1. Productivity mereases as workers feel
important as a result of being noticed
2. Productivity ncreases as rest time of the
workers bemng modified
3. Productivity 1s mdependent of
snvironmental variables
Select the correct mnswer by ising the codes
grven below
a | only
b 2uomly
d land2
0s. Which one of the followmng statements 1s
cormeet!!
Discretuonary cost budgets are typically used for
4. measurmg marketmg and sales effectivencss
b. expense centres like administrative, legal or
research department

L8 EloChEIneE plonis Dol

hires ot i | ralely e
d. managers who have responsibility
expenses and revenues of their
96, Consuder the following statements
Management can diagnose the

an enlerpoise by analysi
. prodiis earmed ;
151 ti celive,

g?‘m above 1sare

kers performmg work involving equal skall
er risk are paid some amount above the
mimum wage. What is this amount referred to
as 7

a. Real waze

b, Incentive wage

¢, Fair wape

gs. Conswder the followmng statements
The principle of span of management states that

104,

101,

|
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I orgamsational variables affect the number of
subordinates that can be effeetively
supervised by 4 manager.

2 the use of technology in the organisation
affects the number of subordmates that can
be ciicatively supervised by a manager.

Which of the statements given above 18 are

correct ?

a | only

b. 2only

k. Both | and

d. WNeither | nor 2

Match [ist-1 with List- correct

answet by using the ¢ civil below the lists:
Lisi-1 (Hierarchy ive)

A A-1,B3,C-4, B2

b__ALB-2 O, I3

¢ A-2 B-l,C-3,D-4

d A2 B3R C-1.D4

Which one of the following stalements 1s

conect?

Among the methods of bringing about change in

the organisation and its human resotroes,

sensitivity traiming refers to the practice of

a.  anoutside consultant for helping the
managers to perceve, undendand and act on

process cvenls

¢ changing behaviour through unstructured
group inleraciion

d.  mvolving team members in mteraction to
learn how cach member thinks and works

Among the standard symbols used for work flow

m office management, what does an inverted

riangle denote ?

a.  Ulperation
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¢ Inspechon

d  Delay

Consider the followmg statements in the conlext

of recond manasement:

I. The only ohjective 15 o ensure
availability of information for managerial
decision-making.

2. Procedure for disposal of records and the
retention schedule both should be laid down
in Records' Manual

Which of the statements miven above 1w are

comeet 7 107.

a. | only

o Hoth }and 2

d. Neiher 1 nor 2

102.

1t

Company Law Including Secretarial

Practices
103, Consider the following statements relating to

company admimstration:

1. Matters relating 1o alteration of
memaorandum of association

2. Matlers relating to further issue of shares
through preferential allotment.

Wihich of the matters given above are dee

%lutnfﬂw sharcholders 7 @ 108,

b, 2only
¢. Both 1 and 2
d.  Neither 1 nor 2
104, Which one of the follow 14 is
comect?
As per the clause 49 fthr.giul.ing Agreement,
in case of an ESSgti\e Chairman.
i 109,
of board should comprise,
independent directors
105, As per the Companies (Amendement) Act, 2002,
the total remuncration paid to the director of a
company should not exceed - 1.
A 10% of the net profits for a given financial
year
b 11 ol the niet profits for a aiven financul
=

12 of 14 |

e 0% of the gross profils for a given financial
vear
o 1% of the gross profits for a given financial
viar
A copy of the Balance Sheet and Profit & |Loss
Aceount are 1o be filed with the Registrar of
Compamies withm which one of the following 7
a 14 days of Annual General Mecting
b 21 days of Annual Genersl Meet)
R mmudl Lreneral Aol
d. 45 days of Annual Geners
Considar the following sta
The doctrine of indoor 2N
apply in case
. of an cutsider havin L or implied
: ln* of authority of the
chialf of the company.
A% has no knowledge of the

il.  Neither 1 nor 2

How can the share capital of a company be

reduced

a. By a resolution passed by the Hoard of
Directors

b. By an ordinary resolution n AGM

o (o CrorsnanvLaw T

d. By permussion from the Company Law
Board only

Consader the following statements :

Equity sharcholders of the company have

1. pre-emptive right

2. limited Liability to the par value of shares

Which of the statements given above s are

comect 7

a. lonly

b. 2only

k. Both | an 3

. Neither | nor 2

Which one of the followmg statement about the

vale and position of the Company Seretary is

nob correct ?

a. Heis a principal officer of a company uder
the provisions of the Income Tax Act
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111

112,

115.

b, Heis an ageni of the Board of Direelors vis-
a-vis the stafl, sharcholders and customers

- He i a dnsice of the Board

d.  He is an officer n charge of the seoretarial
waork in the company

Consider thefollowing statements -

The company malt by ordmary resolution

1. convert any paid-up shirei into stock.

2, reconvert any stock mto paid-up shares of
any denomination.

Which of the statements given above 1w /are

cormeet 7

a | only

b. 2only

k. Both | and 2

d, MWeither 1 nor 2

Which eme of the followmng statements 15

cormect?

Ihe limited hability clause of a company cannot

be altered so as Lo make the lability of a director

afilimited unless

4. special permission of the court is obtdined o
da so

¢ all the directors consent 1o do sa
d. Articles permit such an alteration

ordinary resolution
Which one of the following s
correct?

In companics, where the ade thal a
director shall hold quah sPres, these

hich nf'll'lr]xwrm of a director can only be

exercised al a Board Meeting 7

1. Sell, lease or otherwise dispose off the
whale, or substantially the whole of the
nndertaking of the company

2 Remmt or give time For repayment of any
debit due by a drector

3 Make calls on shareholders in respect ol

moncy unpaid on their shares

15

117,

118,

1.
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Select the correct answer by using (he codes
given halow:
a | and T only

e 2and 3 only
d. None of these
Which one of the following statements 1s
coneet?

The provision of Section 299 of the ¢
Act require that the disclosure af
mierested director should be iy
o ol any of the Board
finameial year m why

ouree duta automation 7

b. MICR

¢ Optical mark recognition

d.  Oplical bar ¢ode reader

Which one of the followmg statements is

correct?

A Relational Operator

4. s placed in o microcomputer W lake the
barden of numbers off the CPL
d software thal ranslates a whaole

programme into machmne language
F

d. refers 1o the ability to run more than one
programme at one e without mterrupling
die execution of another

In India, some companics have started reporting

thar human resources in their annual reports.

Which model do they follow in valuing their

human resources 7

a.  Hermanson model

b, Giles and Robmson model

kLo and Schwartz mode]

d.  Flamholtz madel

Match List-1 with List-I1 and select the correct

answer by using the codes given below the lists ;

|




List-1 (Commiitee)
R. Chandrasckharan Commuitee

. L.C. Gupta Commitiee

. 5.A Dave Committec

List-11 (Recommendation )

. Regulations on Collective Investment
Scheme
Recommendations in respect of working
drafl of the Companies Act

. Intreduction ol derfvatives

Safety and security features for security

certifications O
Codes:
8 A2,B-3C4 o
b. A4, B-1, (-2

¢. A2 B-1,0-4 *
What is a number system that uses ten digils, @

through 9. and six letters, A through F to

represent values in base 16, called?
a. Numene data

b Alpha numeric

L cadociml

d. Alphadecimal

<







